| Efficiency vs Dxy |

0.2
<

> : ;
D.16f
D4
5 F
0.1‘—---.5........5
0.08F oo
0.06 —
0.04 —
002—

............................

...........................................

0
1

Ratio

0.9

0.8

.............

I

B T50-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_mKFii_TTbase
—e— DQM_mKkFit_TT_retrainOIldFiles125

—+ DOM_mKFit_TT

retrainNewFiles125

~N 0.1
©
9.09
Py
Hos
(&)
.07
()
0.06
0.05
0.04
0.03
0.02
0.01]

—+— DQM_mkFit_TT_retrainNewFiles125AndSQCD

o +0

T 12
81
1.1]

1

0.9

2030

TP dz (cm)




	Contents
	Page 1


